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1. (a) Sketch the graph of  for  to  .   𝑦 =  𝑥2 + 𝑥 − 6 𝑥 =− 4 𝑥 = 4
 

 

 

 

 

  (3) 

(b) Estimate the turning point of the graph   𝑦 =  𝑥2 + 𝑥 − 6
 

………………………   (1) 

(c) Using the graph, write down the roots of   𝑥2 + 𝑥 − 6 = 0
 

………………………   (1) 

______________________________________________________________________________ 
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2. (a) Sketch the graph of  for  to  . 𝑦 =  − 𝑥2 − 3𝑥 + 4 𝑥 =− 5 𝑥 = 2
 

 

 

 

 

  (3) 

(b) Estimate the turning point of the graph   𝑦 =  − 𝑥2 − 3𝑥 + 4
 

 

………………………   (1) 

(c) Using the graph, write down the roots of   − 𝑥2 − 3𝑥 + 4 = 0
 

 

………………………   (1) 

(d) Using the graph, write down the roots of   − 𝑥2 − 3𝑥 + 4 = 2
 

 

………………………   (1) 

______________________________________________________________________________ 
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Below is the graph of    𝑦 =  − 𝑥2 + 𝑥 + 2
 

 

 

(b) Estimate the turning point of the graph  𝑦 =  − 𝑥2 + 𝑥 + 2
 

 

………………………   (1) 

(c) Using the graph, write down the roots of  − 𝑥2 + 𝑥 + 2 = 0
 

 

………………………   (1) 

(d) Using the graph, estimate the roots of   − 𝑥2 − 3𝑥 + 4 =− 1
 

 

………………………   (1) 

 

(e) Using the graph, estimate the roots of   − 𝑥2 − 3𝑥 + 4 = 𝑥
 

 

………………………   (1) 

______________________________________________________________________________ 

 

 

:
i

- i

• I
iii.i I

i.
i

→

(0.5 ,
225)

se = 2 , ✗ = - I

✗ = -1.25
,
✗ = 225

gc = I •25
,
I = -1.5


